W)/ =77
l—(‘lb}?f -

Pneumatic Cylinders, Standard VDMA - 1SO 15552 TNX TNX 5300 3 15kl Sslogiy yaidsw

TNXis a new range of ISO 15552 cylinders with new design and new technology in production process. Badran has developed TNX project
by using new materials for parts and new ways of producing those parts as well as new assembling and testing methods.
As results TNX cylinders are solid, high performing, very reliable and much competitive.
-3l 50 il @ilins Ggslogil 5 o3kul sl U> ol crsigy ISOTS552 5 jlssliul gilhao 9 Ll Liawg S b uisband w55 sl TNX (60w 3050 Sislogiy jaibuw
wl 0300 (2l (S13LS0 g S 5Logy (510 1S 0 O 1820 9 yganiow Sl 0 JLS (193 Jgauian Rpww imaad Cealld b 3035 (559193859 21yb b TNX (6 jor sl s
BB Iy S0 g ¢ujly> by 5o pglio gl yd iy Lo glo 008 1 b USey o 0w i 0o ity o5l o> 032 AL < d iy wgs ul._é.th_wa_.gelg_‘ulJ_\ L s el

-l (50 Sgs

X 5 _
/ -\ -—
) i | T

S

Lubrication not required. Clean profile tube in hard anodized

aluminum

Flush mounted magnetic switches,
suitable for easy insertion on any
of the cylinder faces
Lonly o0 L gy ublisio (5l yganian
33k 629 93 (59 bwl wuas

Guided magnetic piston.

GISUgyer JLowgsy  exubjalagil 3)le pgusogll uio 1 sy s alg) Lol b gl S0 ¢ gihunnyy

(i
I

i

(.

i

iy

sH

—\\?})‘<<< )

Piston rods in Hard Chrome & Quick presurisation of piston rod seal, Very efficient and progressive adjustable cushioning with mechanical

Stainless steel 420, 304 or 316 even after long unusage. bufferss.
9 it 0gS i | giians Cudds SIS 1wy > (5 T lshd jLid ki oo B 9 51> 10 5155 Soilogiyy oS 000 9 oSS0 5l S og a0 Sl
P15 LEPo: ol Sujaud sUgé Ugb
Technical Features
End caps ... ... Die-casting Aluminum. g:\zré%%nSanemerafurerone ...................... f’]rz)egcmfzcs:oooc(i%ushng cushions.
Piston rod ... Stainless Steel 420 or 316. Temperature ran pe of mediug "’0 oC = +'40 oC ’
Tie rods ... Carbon Steel with HDG Coated Lubr?cqtion 9 ’ ” Not r'e uired.
Barrel . Anodized aluminium . LIDMCONON v Flteredqoir .
SEAIS oo Piston poliurethan I T ’
Max operating Pressure .........ceeeeveseeseennn 10 bar.
18 Sbain——-
o3 CalSyls pgiogll s 8 CSl0gi e S oupd
(EPo L5 )Sujoud sUgs SIS aibwozys Ao Ul - 1o .. ... buzogles
055I9IS UiSe, b ol oS oo ShSailw oz +Eo Wl o a0 Jluw sl
038 JulsUT pgiaoghl ... NS e 6JS gy
PU Ul:i_,glul.‘g ................. 03 SIS (519D «vvrreeneenreienianeanas 5 a0 Jlow

355,15 jLinsd J5SI s>




Bodrcars

Pneumatic Components

SeriesTNX

Pneumatic Cylinders, Standard VDMA - ISO 15552

TNX B S lastiwl IS..gZilDH JSaluw

Bore

(mm)
@32 .... 32
240 . 40
@50 . 50
D63 . 63
@80 .... 80
@100... 100
@125... 125

™NX C/000 0 00
L

Stroke
Sy Jgb
(mm)

30Viton all seal

Jgs

10With out Magnet <sSeuss:
20With Magnet J1s<Se

50With Magnet and Viton all se

gl ciSe

al

JGu

P Through rod cylinder s juw g jailuw

Effective cushion length
S oupaJob

Standard Stroke s,lsstiswl oS> Jgb

Bore Length Bore J
gy jbS Jgb UG 8 25 50 80 100 125 160 200 250 300 350 400 450 500 600 700 800 900 1000
32 24 32 . . . . . . . . . . . . .
40 27 40 c_o_ o o o o o o 0o O O 0O O Cushioned cylinder, profile aluminium tube.
50 30 30 . L 3912 Pos09fl uizjloJg) 1S dupid Ul 3k
63 30 63 . . . . . . . . . . . . .
80 36 80 . . . . . . . . . . . . . . . . . .
100 38 100 . . . . . . . . . . . . . . . . . .
125 38 125 . . . . . . . . . . . . . . . . . .
* = Stroke / &Sy Jgb Single Rod TNX /
A+ *® [27-F I PIL WIPENA PP
+—2C B+*
|<_S_>| =BG~
CH
L) [
T < — "
1= |
| ® LA
*—G**Hl—l—.‘ JLL
- Pt -t Pt
Bore@bd A B C D QOE OF G H I LM N @O0@P BG CH S Code S
32 120 94 26 30 12 M10x125 20 8 18 4 45 325 M6 GI/8 16 10 25 TNX 32/..
40 135 105 30 35 16 M12x1,25 24 85 21,5 4 54 38 M6 G1/4 16 13 295 TNX40/...
50 143 106 37 40 20 MI6x1,5 32 9 28 4 64 465 M8 G1/4 16 17 295 TNX 50/...
63 158 121 37 45 20 M16x1,5 32 85 285 4 75 565 M8 G3/8 16 17 355 TNX63/...
80 174 128 46 45 25 M20x1,5 40 11,5 345 4 93 72 M10 G3/8 20 21 36 TNX 80/...
100 189 138 51 55 25 M20x1,5 40 13 38 4110 89 M10 G1/2 20 21 39 TNX 100/... * onrequest F=M24x2, G=48
125 225 160 65 59 30" M27x2* 54" 30 35 5 141 110 M12 G1/2 25 27 47 TNX 125/... ** on request piston rod @E =32 mm
* = Stroke /S Through Rod /
2> Jsh il paw 93 Jailuw TNX 00
A+k H1+ % —= -
l—cC B+k
P ~—pol-
CH
THA el | -‘-:_._._._._ B
- —G—+HA—| —= -1 H——G—
> Pt > Pt
Bore@k3 A B C @D OE oF G HHI I M N @0 ©@P BGCH S Code as
32 120 94 26 30 12 M10x1,25 20 8 26 18 45 325 M6 G1/8 16 10 25 TNX 32/...P
40 135 105 30 35 16 Mi12x1,25 24 85 30 21,5 54 38 M6 G1/4 16 13 295 TNX 40/...P
50 143 106 37 40 20 M16x1,5 32 9 37 28 64 465 M8 G1/4 16 17 295 TNX 50/...P
63 158 121 37 45 20 Mi16x1,5 32 85 37 285 75 565 M8 G3/8 16 17 355 TNX 63/...P
80 174 128 46 45 25 M20x1,5 40 11,5 46 345 93 72 M10 G3/8 18 21 36 TNX 80/...P
100 189 138 51 55 25 M20x1,5 40 13 51 38 110 8 MI10 G1/2 18 21 39 TNX 100/...P * onrequest F=M24x2, G=48
125 225 160 65 59 30" M27x2* 5430 65 35 141 110 MI12 G1/2 22 27 47 TNX 125/..P ** onrequest pistonrod @E =32 mm
*= Stroke /eiSy> Jgb Single Acting Front Spring TNX / SEA
. 15538915 08 b Sy j 33k
Ae Bore @8 A Code S
32 120  TNX 32/...SEA
40 135  TNX40/...SEA
50 143 TNX 50/...SEA
63 158 TNX 63/...SEA
80 174  TNX 80/...SEA
100 189  TNX 100/...SEA
Strokes Spring force - »9 69 (N)
WS> gkl @32 mm @40 mm @50 mm @63 mm @80 mm @100 mm
(mm) Min.  Mox. | Min.  Max. | Min.  Max. | Min.  Mox. | Min.  Max. | Min.  Max. | ..SEA
10 50 54 72 82 110 123 10 123 166 180 166 180 o
20 44 54 62 82 98 123 98 123 152 180 152 180 .
30 40 54 52 82 86 123 86 123 137 180 137 180 -
40 35 54 42 82 73 123 73 123 123 180 123 180 -
50 30 54 | 32 8 | 60 123 | 60 123 | 110 180 | 110 180 | TNX ... SEA

Note: For overall dimensions see TNX standard sty ;o TNX cias jow S 53l ogliio ool 8 b



W)/ =77
l—(‘lb}?f -

* = Stroke / &Sy Jgb Single Acting Rear Spring
e iyeeniid TNX .. /...SEP
Ak Bore @b A Code S
| 32 120 TNX 32/...SEP
40 135 TNX 40/...SEP
@ B 50 143 TNX 50/...SEP
(== —— & ® | b 63 158  TNX 63/...SEP
80 174  TNX 80/...SEP

100 189  TNX 100/...SEP

Strokes Spring force - y8 695 (N)
S dgbl @32 mm @40 mm @50 mm @63 mm @80 mm @100 mm
(mm) Min.  Max. | Min.  Max. | Min.  Max. | Min.  Max. | Min.  Max. | Min.  Max. |..SEP
10 50 54 72 82 110 123 110 123 166 180 166 180 .
20 44 54 62 82 98 123 98 123 152 180 152 180 . TNX ... SEP
30 40 54 52 82 86 123 86 123 137 180 137 180 .
40 35 54 42 82 73 123 73 123 123 180 | 123 180 .
50 30 54 32 82 60 123 60 123 110 180 | 110 180 .
| A+ 2xStoke | Multi-thrust Tandem TN X TN
—‘»D ——c— A1+ Stroke B — A1 + Stroke | [ XC IRt v ©
1| <
g J— e ' ________ — 4
® o ®
E+2xStroke
Bore @shé A A1 B C D E Code S
32 156 68 20 26 20 182 TNX 32/..TN2...
40 175 735 28 30 24 205 TNX 40/...TN2...
50 171 76,5 18 37 32 208 TNX 50/...TN2...
63 191 85 21 37 32 228 TNX 63/...TN2...
80 205 915 22 46 40 251 TNX 80/...TN2...

100 224 985 27 51 40 275 TNX 100/...TN2...
125 265 115 35 65 54 330 TNX 125/...TN2...

A+ Stroke 1 + Stroke 2 Multi-position
TD4—04—'—7M+Suoke24>'78T—A1+Slroke1 lep&eJ;.d.uu' ot TNX 0 BS

- @
et

@

E + Stroke 1 + Stroke 2

Bore @8 A A1l B CcC D E Code as
32 156 68 20 26 20 182 TNX 32/...BS...
40 175 735 28 30 24 205 TNX 40/...BS...
50 171 765 18 37 32 208 TNX 50/...BS...
63 191 85 21 37 32 228 TNX 63/...BS...
80 205 915 22 46 40 251 TNX 80/...BS...
100 224 985 27 51 40 275 TNX 100/...BS...
125 265 115 35 65 54" 330 TNX 125/...BS...
Available on request over 3 position cylinders
** Stroke 2 = Addition of the two strokes of the Cylinders el 925 o8 5l oo po g3y ol iy uanlp® > 3003
B + Stroke 1 + Stroke 2 1 Reor Opposed
D—<—C—T7A¢Stroke1+stroke2 4-14—0 D s o A .
M
=r || o S @ | B
dle
Bore @shs A B c D E  Code s
32 196 248 26 20 8 TNX 32/...CNP...
40 218 278 30 24 8 TNX 40/...CNP...
50 220 294 37 32 8 TNX 50/...CNP...
63 250 324 37 32 8 TNX 63/...CNP...
80 264 356 46 40 8 TNX 80/...CNP...
100 284 386 51 40 8 TNX 100/...CNP...
125 330 460 65 54" 9 TNX 125/...CNP...

A+ Stroke 1 I E I A+ Stroke 2 I

Front Opposed
s 09 g g Nk T N X

W[ @ 7 ’.'7 @ |

[t 1|
Bore @8 A E | Code INY
32 94 48 18 TNX 32/...CNF...
40 105 54 215 TNX 40/...CNF...
50 106 69 28 TNX 50/...CNF...
63 121 69 285 TNX 63/...CNF...
80 128 86 345 TNX 80/...CNF...
100 138 91 38 TNX 100/...CNF...
125 160 100 35 TNX 125/...CNF...

Note: For overall dimensions see TNX standard sl 0 TNX il juw S5 i oulidio sl iy bo



Bodrcars

Pneumatic Components

Fixing Accessories TRX (5w 5l il vasas el

Foot Mounting
waiic g 91> Jlasl s

Bore @8 A1 Bl M Q R S T U M1 Code ss
32 138 130 50 7 36 17 10 65 61 XP/32
40 153 141 56 7 39 17 10 72 67 XP/40

9

9

*= Stroke / eisys Jgb 50 165 150 66.5 47 23 12 9 805 XP/50
Iron/ use 63 180 165 765 52 23 12 110 905 XP/63
Cast /32 80 202 184 94 65 27 16 126 112  XP/80
L 100 217 194 115 12 75 27 16 148 133  XP/100
REF. ISO MS1 125 257 224 140 14 90 35 18 180 161 XP/125

Flange Mounting ) . .
s .

Bore@s5 K KI_ M M2 NI N2 @Q Y  Code s
32 16 130 45 80 32 64 7 10  XFL/32
40 20 145 52 9 36 72 9 10  XFL/40
50 25 155 65 110 45 90 9 12 XFL/50
63 25 170 75 120 50 100 9 12 XFL/63
* = Stroke / =S Usb 80 30 190 95 150 63 126 12 16  XFL/80
100 35 205 115 170 75 150 14 16  XFL/100
REF. ISO MF2 ST37/sUg8 125 45 245 140 205 90 180 16 20  XFL/125

Clevis (Female) Mounting *= Stroke / =Sy> Jgb
XCF / wiie Jlasl ySslo sUg!

Bore@hs A2 @y® M D V2 W Z Code sS
32 142 10 50 26 45 20 10 XCF/32
40 160 12 56 335 52 22 13 XCF/40
50 170 12 665 33 65 25 12 XCF/50
63 190 16 765 47 75 30 16 XCF/63
80 20 16 94 47 94 32 16 XCF/80
100 230 20 114 65 110 37 20 XCF/100
125 275 25 140 70 130 46 25 XCF/125

REF. ISO MF2

Clevis (Male) Mounting

REF. 1SO M@
\C

Bore gbé A2 @) M VI W Z Code ss

32 142 10 50 26 20 10 XCM/32
40 160 12 56 33 22 13 XCM/40
50 170 12 66.5 33 25 12 XCM/50
63 190 16 765 47 30 16 XCM/63
80 210 16 94 47 32 16 XCM/80

100 230 20 114 65 37 20 XCM/100
125 275 25 140 70 46 25 XCM/125




W] /=77,
Sologiy

Fixing Accessories TRX 5w 5l ik vasas sl

Tie Rod Trunnion Mounting _
wUg) 3y p0S XCI R

P
e

<
Bore @8 M6 OX X2 X3 X4 Code ss
32 485 12 325 50 74 XCIR/32
40 59 16 38 63 95 XCIR/40
50 71 16 465 75 107  XCIR/50
63 85 20 565 90 130  XCIR/63
80 105 20 72 110 150  XCIR/80 Castlron/w sz
100 129 25 89 132 172 XCIR/100
125 154 25 1138 160 210  XCIR/125 REF. ISO MT4

Trunnion Bearing

Al 508 0lgiigS
=
| < D>
#S’@/‘T ~Z < <
S <l S~ {
A v
P ] ool
| ! ||z
| | |
|
I \ 1
Bore @5 M5 @02 @3 R1 S1 S2 T2 U2 @X X3 X5 Code sS N eSS |
32 46 65 11 15 105 95 7 32 12 52 71 SU-CI32 =
40 55 9 15 18 12 11 9 36 16 65 87 SU-CI/40 S ==
50 55 9 15 18 13 12 9 36 16 77 101 SU-CI/50 \\/‘/
63 65 11 18 20 13 11.5 11 42 20 93 116 SU-CI/63
80 65 11 18 20 14 125 11 42 20 113 138 SU-CI/80 .
00 75 13 20 25 16 15 13 50 25 135 165 SU-CI/100 ST37/sugs
125 75 13 20 25 16 14.5 13 50 25 163 192 SU-CI/125 REF ISO MT4

Rear Hinge Horizontal Mounting XA
33k 035 1398w HES1 sUg)

B
i e |
b= — 1 I
e o) 5
' . \
U1 * = Stroke / wuSy> Jgb
Bore@ys A2 M M4 ©Q R S T T U1 U2 W2 Code ss
32 47 45 53 65 32 65 8 64 38 18 3 XAS/32
40 160 52 57 65 36 65 10 84 41 22 2 XAS/40
50 170 643 67 9 45 75 12 104 50 30 3 XAS/50
63 190 745 77 9 50 75 14 124 52 35 2 XAS/63
80 210 935 97 11 63 10 14 115 66 40 7  XAS/80 o CuwlSyls pguisoglT
100 230 1115 120 11 71 10 17 145 76 50 5  XAS/100 ’ ) -
125 275 140 140 14 90 15 20 17 94 60 10  XAS/125 Die-casting Aluminum REF. CETOP RP 107P

Rear Hinge Vertical Mounting
I3k 83 53902 sUg)

__,“I

(——M
|<—N

Bore@b8 A2 M M4 N ©@Q T W Code ss
32 142 45 53 32.5 6.5 9 22 XANL/32
40 160 52 57 38 6.5 9 25 XANL/40
50 170 643 67 465 85 11 27 XANL/50

63 190 745 77 565 85 11 32 XANL/63 o CaawlSls PgsiroglT REF. ISO MT4
80 210 935 97 72 95 14 36 XANL/S0 Die-casting Aluminum

100 230 1115 119 89 105 14 41 XANL/100
125 275 134 140 110 13 20 50 XANL/125




Bodroary

Pneumatic Components

Fixing Accessories

Rod Eye Mounting
il pad2 G858

J) &
o

T
CH

e
Bore @ hé A B C CH D @EW oF G H @M R Code ss

—R
"

32 56.5 14 105 17 14 10 M10x1.25 27 43 19 26 SNS/32
40 653 16 12 19 15 12 Mi12x1.25 32 50 22 30 SNS/40
50 84 21 15 24 23 16 MI16x15 41 65 27 40 SNS/50
63 84 21 15 24 23 16 Milexl.5 41 65 27 40 SNS/63
80 100 25 18 30 27 20 M20x1.5 41 77 34 50 SNS/80
100 100 25 18 30 27 20 M20x15 41 77 34 50 SNS/100
125 1465 22 23 41 37 30 M27x2 60 102 46 66 SNS/125

Clevis (Rod) Mounting
Cady pw 05LEgS

l%;|_i_—#

i

B12

Bore@ss A B C” D E @F @G H @™ Code ss

32 52 20 10 15 15 MI10x1.25 18 40 10 FS/10x1.25
40 62 24 12 18 18 MI12x1.25 20 48 12 FS/12x1.25
50 83 32 16 21 24 M16x1.5 26 64 16 FS/16x1.25

63 83 32 16 21 24 MI16x15 26 64 16 FS/16x1.25
80 105 40 20 30 30 M20x1.5 32 80 20 FS/20x1.25
100 105 40 20 30 30 M20x1.5 32 80 20 FS/20x1.25
125 148 55 30 40 38 M27x2 48 110 30 FS/27x2

Fixing Magnetic Switches For Tx Cylinders

(RN OPXR) oonetic Switches |

1A 250V 50W BLUE
—co— @
13002 001 10 RED

ulg ol Ulgs Juasl egv g =l Js
5.250V A SOW N-O. 3V 2m
13.002.021.20 BRACKET

D32~@125 ;h3 5l jSilaow (59 J G wanad Caui

13.002.121.20 BRACKET

D50~@250 shd 5l diliw (59 JGumiun Lual i

Floatfing Joint Type “S"
by 58 58

v, = N !

G

Bore@shd A B E F G H Code >3
32 58 22 7 MI10x1.25 8 17 SAS/32
40 58 215 95 Mi2x125 7 17 SAS/40
50 90 27 135 M16x15 14 27 SAS/50
63 90 27 135 Miéxl.5 14 27  SAS/63
80 102 31 145 M20x15 16 33 SAS/80
100 102 31 145 M20x15 16 33 SAS/100

Floating Joint Type “F”
iy yaw SialigS Jbasil

e —

Bore @3 A1 A2 B1 B2 @C @D OF E G H M CH Code ss
32 60 37 36 23 66 11 M10x1.257 24 15 20 17 SAF/32
40 60 56 42 38 9 15 MI12x1259 30 20 25 19 SAF/40
50 80 80 58 58 11 18 M16x1.5 11 32 20 30 24 SAF/50
63 80 80 58 58 11 18 Mi1ex15 11 32 20 30 24 SAF/63
80 90 90 65 65 14 20 M20x1.5 13 35 20 40 36 SAF/80
100 90 90 65 65 14 20 M20x1.5 13 35 20 40 36 SAF/100
125 90 90 65 65 14 20 M27x2 13 35 20 40 36 SAF/125

TX 15 Juast Yo 5oy 3k asad Gl Cansy 9 unghliceo 1 yganios

uad Cuny g usbligo jguuim

AL-39R, AL-39DF, AL-39S /
For magnetic switches features see page 07

-39l £92) V 02800 65 g (49 Dbatiio 63l Cug>

PCC BRACKET

Do not over tighten!
Damage to the switch
andlor cylinder may occur,

Heat Resist M ti itch
-30RX-02-HT150  [Rr iR i i

s ol gl Juatlegs o slass Jgusiw £93

10..28VDC 50 mAmax 14 W N.O. 2 Solid State (UL cae i)

PCCBRACKET

13.002.121.20 BRACKET Q g



Magnetic Switches — AL-39 Series

Fixing Position

L

T’
Wy

5.0~5.7

Any

|<— Any —=—

2.4~3.9

7

Step 1
Specs AL-39R AL-39DF AL-39S b Sbadiio
Model Ul e o o 93 UL Cae o o 93 UL Ca yous oo o U
Switching Logic SPST Normally Open Normally Open Solid State, Normally Open Jasl ggs
Sensor Type Reed Switch 2 Wire Solid State NPN/ PNP Automatic JGuliim £5
Operating Voltage 5~240V DC/AC 10~28V DC 5~30V DC 35,8 5y
Switching Current 100 mA Max. 50 mA Max. 100 mA Max. Ul Sl
Switching Rating 10 W Max. 1.4 W Max. 3.5 W Max. 295> Ules
Current Consumption 12(40) pA Max.@24V 7.5 mA Max.@24V Apao by
Voltage Drop 2.5V Max.@100mA DC  2.65V Max.@50mA DC 1V Max.@200 mA DC g sl
Leakage Current 20(90) pA Max.@28V 0.01 mA Max. e VT
Indicator Red LED Red LED Red LED yadli
Cable (1m) Grey Oil Resistant PUR  Black Oil Resistant PUR Black Oil Resistant PUR (o 1) S
Sensitivity 35~45 Gauss 40~750 Gauss 40~750 Gauss Cpwlis ljso
Frequency 200 Hz 1000 Hz 5000 Hz puils;5
Temperature -10 ~ 70°C -10 ~ 70°C -10 ~ 70°C 55,55l
Classification IP 67 IP 67 IP 67 Sl g T jIenbisls s jlastiwl
1 L
3 I )t N ] ] ) e 1 I
: : P 33.8 | 150410 | " 33.8 | 15010 | eyl
Dimension ’ - : - ;
i LE 7+
5 5 =
[y . ; l~—25:2— T g5l |-—2542—~|
12 SENSING Ptl)INT 1000£20 ‘ * \sE(?zs !&‘F RE)OINT‘ 1000:20 ‘
- . N Brown Efow] + «)_Brown + Jlao
Circuit & Connect Diagram t ';H | g Load T
=) Black Z D) Black
POWER 3" POWER <2 POWER
(owe | 2 | o Coad) | 24| e oad) |
Blas I
External Protect Circuit H Bl
Brown Brown F j Brown Brown
. Load . Load . Load 1 T+
5 |8 5 + Z%ﬁ\ Black @ *
§ ~ 'é % _ 4 ] POWER
a Blue T & Blue | o Blue T EG‘KN Bue (Load) 7 l_

Fixing Position For Tnx Cylinders

Bracket or band is not required.

-3gul 50 0SR20 I3l 0 @y NS 2 b 9 68 S 145 iluaw jladh 5 Eoliunn U ygas 8y ggaiia Cuaus 6 L (9




